Lesson 4 — Sec. 7.5: Solving Systems by Elimination

Use elimination when no coefficients (the number in front of the variable) are 1.

. . _ Which terms can we eliminate
Example 1: Solve this linear system: by adding equations together?

®3x 2
Ay + (-ay) =0
0 ): e

Solve for K

3x +ay' = Ix+dy =2

t UX-Ay = 3(D+2y =2
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Example 2: Solve this linear system:

3E1x+3y:15_] = lax +qY= ys

8x—-9y=15
13 x ?(= U5
t_3x = y =15 _
dox  =0o-
a0 a0
x=3 cheek: 8x-dy =|5
Ux + 3\' =\5 P(3)I) 8(3)-a()=15
%(3) + 3\’ =15 a4-9 =\5
Math 10 FP 1a + 3“ =15 \S TFaAD vV
-l =2

=3 Y=!



Example 3: Solve this linear system:
3x—4y=7
Sx—-6y=8

5[3,(-!1\{ :1] Xﬁ \)5!‘30\‘ =35

-3 [5x-ky=13] + Hox +18y =-at
‘31 = ||
-u -\ — =\
Ix-Y (-5- =3 \ A
= -5 -4 check: §5(5)-b-2)=
Bxiga\a la P53 (5)-e(-3)=3
3 -25 +33 = 8
x= =15 i
X =-5 =8V
Example 4: Solve this linear system: ‘ | |
Ty . |%6 * clear fractions b\I mu\HP\\“ﬂg
|37 277 by LCD.
| | 5
—x+—y== X
24 2:\ ! (0)A x -(0) 1y =Y (b)
3 2

qX"3\I:aq 72,{.3\’=a‘-\
dax+y=10] FZAx=-ay=-30
9{ 1 -57:4 73""‘

5
O'M 3(.5) =10(5)
> 21 4
10x -y = 518
it =50
0x =5¢
x:‘ﬁ = 9’1
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